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( 2) 1660

How does presence of monopoly lead to deadweight

loss as compared to competitive conditions ? TV

Or
Explain the absence of supply curve under monopoly
with the help of relevant diagrams. T4
What is peak load pricing 7 How c.an a public utility
company producing electricity be better off by following
a policy of peak load pricing than one of uniform
pricing. T

Or

"What do you mean by third degree price discrimination ?

When is it profitable for a monopolist to discriminate ?
How will he allocate his output in two markets and
charge different prices ? T4
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Explain how excess capacity arises in monopolistic
competition. How is Chamberlin’s concept of excess
capacity different from traditional concept ? [s this

necessarily undesirable ? T4
Or

Why do price rigidities arise in an oligopofistic market ?
Explain price rigidity with the help of ‘kinked-demand
curve’ model. 7%
In Baumol's sales maximization model, compare the effect
of (i) an imposition of a lump sum tax and (i} an
imposition of a specific tax (per unit of output) on
equilibrium position of sales maximiser verses profit
maximiser. T4
Or

Why has OPEC oil cartel succeeded in raising
price substantially while the CIPEC copper cartel has
not ? What conditions are necessary for success of

a cartel ? 4
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~ ( 6 ) 1660
Derive firm's demand curve of a factor when several

variable factors are used under conditions of perfect

competition in both factor and product markets. 7'%
Or

Prove that labour supply curve of an individual
is backward bending with the help of indifference
curve. Can we still have positively sloping market
supply curve. T
Differentiate between monopolistic and monopsonistic
exploitation of labour. How can govemment witervention

eliminate monopsonistic exploitation ? T
Or

Explain economic tent. Explain with suitable diagrams

and examples what happens when :
() Supply is perfectly elastic:

(ify  Supply is perfectly inefastic;

(iif) Supply is elastic. T4
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With the help of Edgeworth consumption box diagram,
explain efficiency in exchange of two goods between
two consumers. What does contract curve of exchange

indicate ? T
Or

Derive Production possibility curve through production

contract curve, What is its shape ? TV

Explain the role of externalities in the failure of
competitive market. Can the effects of externality be
corrected with the help of taxation and subsidies ? (Use

suitable diagrams) 74
Or

Show how conditions of perfect competition automatically
lead to Pareto optimality in product mix. Use diagrams

and staie the underlying assumptions. Tt
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Write short notes on : 7%

() Difference between the nominal rate of interest and

the real rate of interest:
(i) Internal rate of return;

(iify Consumer decision on buying or leasing a car.
Or

An individual is considering two investment projects.
Project A will return a loss of § 5 if conditions are
poor, a profit of § 35 if conditions are good and a
profit of § 95 if conditions are excellent. Project B will
return a loss of § 15 if conditions are poor, a profit

of $ 45 if conditions are good, and a profit of § 135

‘if conditions are excellent. The probability distribution

of conditions are as follows :
Conditions : Poor Good Excellent

Probability : 40% 50% 10%
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Calculate the expected value of each project and
identify the preferred project according to this

criterion.

Calculate the standard deviation of the expected
value of each project and identify the project with

the highest risk.

Which of the two projects should a risk-averse

individual prefer ? TV

fn Duopolists’ market, two firms can produce at an

constant average and maréinal cost of AC = MC = 5.

They face a market demand curve given by

0

In Cournot’s model if they are profit maximizing,
find two reaction functions and calculate Cournot’s
equilibrium (price and output). What are the profits

of each firm ?
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(iy If we follow Stackelberg’s model and firm one is
price leader then find the equilibrium price and
output under this model. What will be their

profits ? T4
Or

Explaii.l how risk can be measured by standard
deviation of expected income. Draw return-risk
indifference curvés for two-risks averse individuals A
and B. where A is extremely risk averse and B is
.moderately risk averse. (Iindicate standard deviation of
expected income on X-axis and expected income on
Y-axis). How does the diversification of an investor’s

portfolio reduce risk ? 7%
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